
�����������	�
 ������ ��
������ �� ������� �
� ��������� ��������� �� ������ ��!��� �"��#�$ %��&�%'( �!��"� �� �"�
�#��(�# ) *���+ �#��(�# !��+ # %��'���'&� ) ,'�&��� - ���&�#����� ��'�&+ 
�� ������� - %.�'�'( #�&'����(�+�� ��� "�&����'��(�+�� ) /�0'� �"��#+�
%��&�%'� �#��(�# �� ������ )
1 23 45678 9 :; : <=>=?@AB C D=EF=GAH=IBJK L=MJ@ABJNOPQ RSQ T U T V T WXRXYYPZ[ T\] T^ _V`]UabVac deef T g hfi j T kl Tmnf To
pJqJHJ rs CtC u6242v 78 9 535w u6x3 yy82z

α

O A

BC

FD

E

ωOA = 5
l
−1

c
OA = 7

c
AB = 5

c
BF = FC = 5

c
CE = 2

c
DF = 5

c
cosα{e Tf c

FB ⊥ CF
T

pJqJHJ rs Cr C | 5}~��26 �yv y6 u� y�4yy82z

α

O A

B
C

F D

E

ωOA = 10
l
−1

c
OA = 7

c
AB = 5

c
BF = FC = 5

c
CE = 2

c
DF = 2

c
cosα{e Tf c

FB ⊥ CF
T

pJqJHJ rs Cs C | 5�3�6�y8 �7v 56 u6x3 yy82z

α

β

O

A

B

C

DE

ωOA = 10
l
−1

c
OA = 5

c
AB = 6

c
BC = 2

c
DE =

10
c
BD = 4

√
2
c
cosα = 0,6

c
β = 45

◦
T

pJqJHJ rs C� C |�w�~� y4�~ � 582x
α

O A

BC

FD

E

ωOA = 4
l
−1

c
OA = 7

c
AB = 4

c
BF = FC = 5

c
CE = 2

c
DF = 3

c
cosα{e Tf c

FB ⊥ CF
T

pJqJHJ rs C� C �35zy85 �5w��65 �3 �y865

α

β

O

A

B

C

D E

ωOA = 4
l
−1

c
OA = 5

c
AB = 6

c
BC = 2

c
DE = 4

c
BD = 5

c
cosα = 0,6

c
cos β = 0,6

T

pJqJHJ rs C� C � y}~� y84�2� �~4�56 � �73 y82z

α

β

O

A

B

C

DE

ωOA = 30
l
−1

c
OA = 5

c
AB = 6

c
BC = 4

c
DE =

5
c
BD = 6

√
2
c
cosα = 0,6

c
β = 45

◦
T



pJqJHJ rs C� C �5�6~wx2678 �x~53 x ���� 4782z

α

β

O

A

B

C

D E

ωOA = 20
l
−1

c
OA = 5

c
AB = 12

c
BC = 5

c
DE =

4
c
BD = 5

c
cosα = 0,6

c
cos β = 0,6

T

pJqJHJ rs C� C �5�53 78 u� y�456x3 �y3 �yy82z

α

β

O

A

B

C

DE

ωOA = 10
l
−1

c
OA = 5

c
AB = 6

c
BC = 5

c
DE =

10
c
BD = 5

c
cosα = 0,6

c
cos β = 0,6

T

pJqJHJ rs C� C 1 5��~3 9 53 � u� y�456x3 782z

F

D

O

E

C

A

B

α

45
◦

ωOA = 2
l
−1

c
OA = 6

c
DF{� c BC{CF{n c

AB = 4
√
2
c
DE{h c

cosα{e cf c
CB ⊥ CF

T

pJqJHJ rs Ct� C 1 2�}5y8 �yv 23� 56

45◦

O

A
B

C

F

D
E

ωOA = 4
l
−1

c
OA = 1

c
AB = 4

c
BF = 1

c
BC = 1

c
DE = 1

c
DF = 4

√
2
T

pJqJHJ rs CttC 1 7v�5x�y u6x3 y� u� y�4yy82z
α

O A

B
C

FD

E

ωOA = 2
l
−1

c
OA = 7

c
AB = 3

c
BF = FC = 5

c
CE = 2

c
DF = 2

c
cosα{e Tf c

FB ⊥ CF
T

pJqJHJ rs Ctr C 1 7�w� y8 u6x3 y� u� y�4yy82z
α

OA

BC

F D

E

ωOA = 4
l
−1

c
OA = 7

c
AB = 4

c
BF = FC = 5

c
CE = 2

c
DF = 4

c
cosα{e Tf c

FB ⊥ CF
T

pJqJHJ rs Cts C 13 yz�78 ; 2�7� 5�
u� y�456x3 782z

α

β

O

A

B

C

DE

ωOA = 10
l
−1

c
OA = 5

c
AB = 6

c
BC = 5

c
DE =

10
c
BD = 5

c
cosα = 0,6

c
cos β = 0,6

T

pJqJHJ rs Ct� C ��3� ��zy4�58 � �73 y82z

α

O A

BC

F D

E

ωOA = 4
l
−1

c
OA = 7

c
AB = 4

c
BF = FC = 5

c
CE = 2

c
DF = 2

c
cosα{e Tf c

FB ⊥ CF
T



pJqJHJ rs Ct� C �4w5�78 �5�53 � v 2w3 2y82z
α

O A

BC

F D

E

ωOA = 4
l
−1

c
OA = 7

c
AB = 4

c
BF = FC = 5

c
CE = 2

c
DF = 2

c
cosα{e Tf c

FB ⊥ CF
T

pJqJHJ rs Ct� C �3 2v 5zy6�7 ���� u� y�4yy82z

α
OA

BC

FD

E

ωOA = 4
l
−1

c
OA = 7

c
AB = 2

c
BF = FC = 5

c
CE = 2

c
DF = 4

c
cosα{e Tf c

FB ⊥ CF
T

pJqJHJ rs Ct�C � yx��265   �5w y3 265
�7v 567865

45
◦

O

A

B

C

F

D
E

ωOA = 1
l
−1

c
OA = 2

c
AB = 1

c
BF = 1

c
BC = 1

c
DE = 2

c
DF =

√
2
T

pJqJHJ rs Ct� C �7�56785 u665 9 2�5�� 7865

F

D

O

E

CA

B

α45◦

ωOA = 21
l
−1

c
OA = 4

c
DF{i c

BC{CF{n c
AB = 4

√
2
c
DE{h c

cosα{e cf c
CB ⊥ CF

T

pJqJHJ rs Ct� C �w53 74w26 � 58y� � �73 y82z
FD

O

E

C

A

B

α

ωOA = 18
l
−1

c
OA = 3

c
AB{AF{ me c

BC = 9
c
DF{¡ c DE{h c

cosα{e cf c
AB ⊥ AF

T

pJqJHJ rs Cr� C �5w5~3 78 � 5x2v
u� y�456x3 782z

45◦

O

A

B

C

F

D
E

ωOA = 3
l
−1

c
OA = 2

c
AB = 3

c
BF = 1

c
BC = 3

c
DE = 2

c
DF = 3

√
2
T

pJqJHJ rs CrtC �7�w7�}55w53 | 5wx73¢

45◦

O

A
B

C

F

D
E

ωOA = 2
l
−1

c
OA = 3

c
AB = 2

c
BF = 1

c
BC = 2

c
DE = 2

c
DF = 2

√
2
T

pJqJHJ rs Crr C £ y�5�26 � 58y�
1 764w56w26782z

45◦

O

A

B

C

F

D
E

ωOA = 3
l
−1

c
OA = 1

c
AB = 1

c
BF = 1

c
BC = 3

c
DE = 1

c
DF =

√
2
T



pJqJHJ rs Crs C ¤ y3 4w6y8 �y3 �y� �y665x�y82z

α

OA

BC

FD

E

ωOA = 4
l
−1

c
OA = 7

c
AB = 4

c
BF = FC = 5

c
CE = 2

c
DF = 2

c
cosα{e Tf c

FB ⊥ CF
T

pJqJHJ rs Cr� C � 56� ¥ 5�w�6

F

D

O

E

C

A

B

α

45◦

ωOA = 20
l
−1

c
OA = 3

c
DF{n c

BC{CF{n c
AB = 4

√
2
c
DE{� c cosα{e cf c

CB ⊥ CF
T

pJqJHJ rs Cr� C

α

β

O

A

B

C

D E

ωOA = 4
l
−1

c
OA = 5

c
AB = 12

c
BC = 4

c
DE =

4
c
BD = 5

c
cosα = 0,6

c
cos β = 0,6

T


